i
B’

HEBH

BE A

ZE A

5 hi

6 i

[EDA

8 i

9 hi

1 04z

K4 Out In Total Hdecp Net
)X - fEH - AK - mm%—A
AR EH—% 0 40 7.2 32.8
HITE 3534 w 0 46 12.0 34.0
X HAK 45 0 45 8.4 36.6
HH - ) 48 0 48 10.8 37.2
23 35.15 |ITotal| 103.40
ELE B BA - FlEF—A
BE Rk 47 0 47 13.2 33.8
e wifkk 50 0 50 14.4 35.6
I FHEK 50 0 50 13.2 36.8
BA %% 56 0 56 16.8 39.2
23 36.35 ITotal| 106.20
RE - KA - 2l - hEF—2A
R —Rx 38 0 38 2.4 35.6
WA G511k 44 0 44 8.4 35.6
his 9% 44 0 44 8.4 35.6
%M HE 43 0 43 7.2 35.8
23 35.65 ITotal| 106.80
AIL - 3858 « KA - 8ikF—24
K WEx 41 0 41 6.0 35.0
AL By 38 0 38 2.4 35.6
8 Bk 41 0 41 4.8 36.2
wmA & 43 0 43 6.0 37.0
23 35.95 I Total| 106.80
LSRR « B2 - B - )i —2A
I 42 0 42 7.2 34.8
I SAE 41 0 41 4.8 36.2
TS 43 0 43 6.0 37.0
s BE 43 0 43 4.8 38.2
23 36.55 ITotal| 108.00
JILE; « 5K - A - g F—A
S .1 62 0 62 26.4 35.6
LR Bk 42 0 42 6.0 36.0
BA Kx 39 0 39 2.4 36.6
s B 43 0 43 6.0 37.0
23 36.30 ITotal| 108.20
AR« RFIEE - 58 « ZF—A4
AR FEx 41 0 41 6.0 35.0
AR EfE X 46 0 46 10.8 35.2
AR Fx 44 0 44 6.0 38.0
A E— 41 0 41 2.4 38.6
23 36.70 ITotal| 108.20
A - K%E B - BEF—L
KE B—% 40 0 40 4.8 35.2
AR Fx 40 0 40 3.6 36.4
Bl %% 45 0 45 8.4 36.6
B S3E 45 0 45 6.0 39.0
23 36.80 ITotal| 108.20
JEW] - 85K - Wik - e F— 24
[ D - e 48 0 48 13.2 34.8
WA Wik 40 0 40 3.6 36.4
W] Eirx 43 0 43 6.0 37.0
e W 48 0 48 8.4 39.6
23 36.95  Total| 108.20
EW/) -4 - BH - ILOF—2A
4 %%* 38 0 38 2.4 35.6
Eo)2kEx 41 0 41 4.8 36.2
#ZH Bk 39 0 39 2.4 36.6
g % 40 0 40 2.4 37.6
23 3650 ITotal| 108.40




[[Z{A
1 141

1241

1 34z

1 41

1 541

1 64z

1 74

1 84z

1 941

2 0hr1

K4 Out In Total Hdecp Net
Hrp - fES - S - SHF— A
Hrb 2% 39 0 39 4.8 34.2
A ek 49 0 49 12.0 37.0
HH O MEx 57 0 57 19.2 37.8
% K2 48 0 48 9.6 38.4
23 36.85 ITotal| 109.00
e o BB - K - WRAF—A
WA Xk 45 0 45 9.6 35.4
FHE ik 46 0 46 9.6 36.4
2B i 41 0 41 3.6 37.4
Y SLESE 47 0 47 8.4 38.6
23 36.95  Total| 109.20
HEH < BE - AR - InF—24
IO BEE 44 0 44 8.4 35.6
MR Bk 42 0 42 6.0 36.0
I — % 39 0 39 1.2 37.8
A 45 0 45 7.2 37.8
23 36.80 ITotal| 109.40
okt « WK « BRAT . Iﬁﬂlll%-?-—l\
WK F % 0 46 10.8 35.2
BT Bk 45 0 45 8.4 36.6
b fkl 46 0 46 8.4 37.6
Iﬁﬂm% va it 55 0 55 16.8 38.2
23 36.90 ITotal| 109.40
P - (U I0A - HIF—4
Mg BE K 36 0 36 0.0 36.0
A Wk 41 0 41 4.8 36.2
I s 48 0 48 10.8 37.2
Wl R 48 0 48 9.6 38.4
23 36.95 ' Total| 109.40
HE - [l - SEJI - /D F— 2
NI 40 0 40 4.8 35.2
HE #Hx 48 0 48 12.0 36.0
P Bk 49 0 49 10.8 38.2
Hrp il 52 0 52 13.2 38.8
23 37.05 ITotal| 109.40
W « B« I HRF— 4
Pk ik 44 0 44 9.6 34.4
MR ER 46 0 46 9.6 36.4
FIE - fnllx 52 0 52 13.2 38.8
Bk Fi 54 0 54 14.4 39.6
23 3730 ITotal| 109.60
G - A - & - PR —A
il #k 44 0 44 9.6 34.4
P H Hidg % 46 0 46 9.6 36.4
Bl B—% 52 0 52 13.2 38.8
i 54 0 54 14.4 39.6
23 3730 ITotal| 109.60
INEF o IIF - (LA « JHEF—2A
A i 39 0 39 2.4 36.6
I B—% 45 0 45 8.4 36.6
g Wik 45 0 45 8.4 36.6
N 42 0 42 3.6 38.4
23 37.05 ITotal| 109.80
Pl « 223 « Bl - H)F—L
2 AE % A7 0 47 10.8 36.2
sl Bz x 39 0 39 2.4 36.6
Pl ¥ 36 0 36 -1.2 37.2
=i W 37 0 37 -1.2 38.2
23 37.05 ITotal| 110.00




N
2 141

2241

2 3pr

2 441

2 541

2 614z

2 THEL

2 84z

2 941

3 04hL

K4 Out In Total Hdecp Net
FafB « wOH - FHAT - ﬁﬁ“]ﬁﬁ"—l\
HR W 0 47 10.8 36.2
Fo 1 jw R A K 46 0 46 9.6 36.4
wH Bk 40 0 40 2.4 37.6
Pl MR 46 0 46 8.4 37.6
) 36.95 [Total| 110.20
B - S« 354 - BkF— L4
B 5h% 50 0 50 14.4 35.6
W AEEX 52 0 52 15.6 36.4
0 Bk 49 0 49 10.8 38.2
Mk = 49 0 49 10.8 38.2
R&2) 37.10 [Total| 110.20
A « fKH - K - /J\HH"—L.
INR T F K 0 41 4.8 36.2
RH - %% 40 0 40 3.6 36.4
R &% 46 0 46 8.4 37.6
HA R 48 0 48 9.6 38.4
R&2) 37.15 [Total| 110.20
Pe R A « BRAR « S - BijHF—2
A {EFIx 40 0 40 4.8 35.2
AR A 48 0 48 10.8 37.2
[ 2 A HER) % 45 0 45 7.2 37.8
FEE e — B 53 0 53 14.4 38.6
R&2) 37.20 [ITotal| 110.20
%Ik < ANBF - PEKL -« SBIRF— 2L
VakE  Enlk 44 0 44 8.4 35.6
%k FHRx 49 0 49 12.0 37.0
hig - Kok 39 0 39 1.2 37.8
s 51 0 51 13.2 37.8
R&2) 37.05 [Total| 110.40
MAR—N « B - —HF—4
WA ZEHix 39 0 39 3.6 35.4
=¥ Hx 43 0 43 7.2 35.8
WA —AxXx 49 0 49 9.6 39.4
0 0 0.0
R&2) 36.87 [Total| 110.60
/NP - HiFE - KBE - HHEF—2
RHEE —% % 43 0 43 7.2 35.8
R T 1% 48 0 48 10.8 37.2
P ik 46 0 46 8.4 37.6
/o FE 39 0 39 1.2 37.8
R&2) 37.10 [Total| 110.60
W - E - bk - JLIEF— A
LiE F% 49 0 49 13.2 35.8
W ik 48 0 48 10.8 37.2
M E Rtk 46 0 46 8.4 37.6
gk B 47 0 47 7.2 39.8
R&2) 37.60 [Total| 110.60
Kbk - mrp - 1238 - HiF—A4
Kbk ok 42 0 42 6.0 36.0
Al &k 40 0 40 2.4 37.6
=& Bigx 40 0 40 2.4 37.6
2 44 0 44 6.0 38.0
R&2) 3730 [ITotal| 111.20
7 o8 - |l - BOXF—A4
HILZZ DX % 41 0 41 4.8 36.2
NSV L i) ¢ 42 0 42 4.8 37.2
rn EEx 39 0 39 1.2 37.8
Hill % 40 0 40 1.2 38.8
Rg2) 3750 [Total| 111.20




N
3 14

3241

3 3 4L

3441

3 541

3 641

371

3 8 4L

3 941

4 01

K4 Out In Total Hdecp Net
BIE « KE - DK - KEF—24
IFEIR T K 44 0 44 7.2 36.8
AR Bk 49 0 49 12.0 37.0
K& B2k 41 0 41 3.6 37.4
Y PN 38 0 38 -1.2 39.2
23 3760 ITotal| 111.20
JHFR « 2R - = « HERF—A
JHF  EFok 38 0 38 1.2 36.8
— i#Ex 43 0 43 6.0 37.0
KN B 40 0 40 2.4 37.6
HiR oL 45 0 45 6.0 39.0
23 3760 ITotal| 111.40
PR < 1T - Hill - AMRHF—4
AR R RIS % 0 52 15.6 36.4
il Pithk 44 0 44 7.2 36.8
B FRX A7 0 47 8.4 38.6
e BT 45 0 45 6.0 39.0
23 3770 ITotal| 111.80
AKH - #H - B8 - ZiHF—A
HIF R =% 44 0 44 7.2 36.8
I BB 41 0 41 3.6 37.4
AKH 1% 40 0 40 2.4 37.6
—IH HER 40 0 40 10.8 29.2
23 35.25 ITotal| 111.80
KA - B - =i - BEF—2A
A Bz 41 0 41 4.8 36.2
=i Rk 48 0 48 10.8 37.2
B ik 42 0 42 3.6 38.4
wE FE 53 0 53 10.8 42.2
23 3850 ITotal| 111.80
AR - A - L F— A
B =5 ¢ 45 0 45 9.6 35.4
AR FH 3 39 0 39 1.2 37.8
Al BN 46 0 46 7.2 38.8
0 0 0.0
23 3733 [Total| 112.00
bt - N - W - PHiF—A
R Ak 49 0 49 12.0 37.0
ﬂﬁT B4 % 42 0 42 4.8 37.2
SAH % 43 0 43 4.8 38.2
FWE =11 41 0 41 2.4 38.6
23 3775 ITotal| 112.40
PR - B - WA - PR F—A
i Rk 50 0 50 13.2 36.8
e Uik 46 0 46 8.4 37.6
PR HETE 44 0 44 6.0 38.0
L .7 - 52 0 52 9.6 42.4
23 3870 ITotal| 112.40
2 - B - RRIR - JeiEF—2A
HH Mk 45 0 45 8.4 36.6
g SRk 45 0 45 7.2 37.8
RIS ik 37 0 37 -1.2 38.2
BE - Fi 45 0 45 6.0 39.0
23 3790 ITotal| 112.60
JRIR « £y < Tk - [)IF—24
Eh #BHx 41 0 41 4.8 36.2
TR B 44 0 44 6.0 38.0
W 23k 40 0 40 1.2 38.8
| ES 47 0 47 7.2 39.8
23 3820 ITotal| 113.00




[[Z{ A
4 14z

4 21

4 341

4 4 pL

4 5471

4 671

4 THEL

4 847

4 91

BB

K4 Out In Total Hdecp Net
A« YL - Bl - BF—2A
L Bx 42 0 42 6.0 36.0
BRIl Sk 42 0 42 4.8 37.2
A kA 50 0 50 9.6 40.4
M 52 0 52 9.6 42.4
23 39.00 Total| 113.60
e B o WA F—2A
206 45 0 45 8.4 36.6
ik Rk 43 0 43 4.8 38.2
RIS 2% 50 0 50 10.8 39.2
0 0 0.0
23 38.00 Total| 114.00
B ol - PN « LR — A
EE N A7 0 47 10.8 36.2
e S 49 0 49 10.8 38.2
eS8 48 0 48 8.4 39.6
Mg 41 0 41 1.2 39.8
23 3845 ITotal| 114.00
ki E - MR - e - BB F—A
e 43 0 43 6.0 37.0
ME #Bck 38 0 38 0.0 38.0
LTI I 43 0 43 3.6 39.4
Mg fix 44 0 44 3.6 40.4
23 3870 ITotal| 114.40
PER < b o P - TR — A
g %Hﬁ* 46 0 46 8.4 37.6
N . 4 51 0 51 13.2 37.8
g F2Z2 % 50 0 50 10.8 39.2
bk Eadk 59 0 59 16.8 42.2
23 39.20 ITotal| 114.60
S - PR - e — A
i I e 48 0 48 10.8 37.2
SHH - FH—x 54 0 54 16.8 37.2
P PEE K 48 0 48 7.2 40.8
0 0 0.0
23 3840 ITotal| 115.20
i - &g - hiEF—A4
miE Tk 54 0 54 16.8 37.2
rhJE RIS 51 0 51 12.0 39.0
hiE 3% 49 0 49 8.4 40.6
0 0 0.0
23 3893 ITotal| 116.80
IR « /NI B« JRIRF— A
Kh ik 53 0 53 14.4 38.6
FulR s % 39 0 39 0.0 39.0
NI 353 ¢ 48 0 48 8.4 39.6
JRIR R 51 0 51 9.6 41.4
23 39.65 ITotal| 117.20
b« i« SR - ITFF—2A
Lk BEk 43 0 43 6.0 37.0
Frfid R 45 0 45 4.8 40.2
Hrb Efi 51 0 51 9.6 41.4
IIEZ. 55 0 55 13.2 41.8
23 40.10 |ITotal| 118.60
B« aA - R - BBF—A
B A% 43 0 43 3.6 39.4
oié  TEHI 52 0 52 12.0 40.0
L . . ¢ 49 0 49 8.4 40.6
BA Wl 42 0 42 1.2 40.8
23 40.20 ITotal| 120.00




A
BM

K4 Out In Total Hdecp Net
HH - &Ik - fEH - ﬁ%?——lx
PRI R 0 43 3.6 39.4
VAL 5. 53 0 53 13.2 39.8
BRI % 46 0 46 4.8 41.2
HEH T 53 0 53 9.6 43.4
23 40.95 ITotal| 120.40




